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Activity 1. (4pts)

1. Gymnastics / Athletics 2. Phonetics 3. Ethics 4. Mathematics

Activity 2. (3pts)

a.had Db.left c.knew d.hadseen e.willlend, promise

Activity 3. (4pts)

1. . picture is so attractive that everybody admires.

2. He didn’t get up early. As a consequence, he missed his flight.
or He didn’t get up early; as a consequence, he missed his flight.

3. Although he took the TGV to the airport, he missed the 8:45 flight to New York.
4. The picture was of such an attraction that everybody admired.

Activity 4. (4pts)

1.Too much 2. too little 3. too many 4. Too few 5. too little 6. too many

7.t00 much 8. too few

Activity 5. (Spts)
1. Advantages # disadvantages

2. Legal # illegal

3. Possible # impossible
4. Limited # unlimited
5. Famous # infamous

6. Relevant # irrelevant
7. Direct # indirect
8. Known # unknown
9. Connect # disconnect

10.Forgivable # unforgivable
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